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B. Com. (Sem. V) (CBCS) Examination

March - 2019

Management Accounting — I
(New Course)

Time : 2% Hours] [Total Marks : 70
JAdL (1) 85 ussll @l euy ol suldd 8.
(2) %33 awldl el Mzl satadl.

1 dl. 31-3-2015 i1l 31-3-2016+1L A% AL Rl WISl AJA4L 21 20

= UL wRAl sidalld Hiuats e oo Wl A Guylol salad

Was AUl $3U.
gaLeield] il 31-03-2016 | 31-03-2015 | @ $dl 31-3-2016|31-3-2015
Slsadl 4R £ wadl 15,000| 30,000
3. 10+l 24,00,000| 18,00,000 | AlA1-d>{ 15,00,000| 12,00,000
10% R4, A= gHle i |l | 13,50,000( 16,50,000
AR 835 3. 10+l s(Har 3,30,000( 2,85,000
3.8 MU ~| 12,00,000 | AsLeL 80,000 10,000
AR MIMHun - 30,000 | 2L$ 4,75,000| 4,50,000
Y4 2elHd 75,000 ~| zaleRl 10,65,000| 15,00,000
8%+1l RO~ 2,10,000|  3,00,000 | A53-6{5 3,30,000| 4,55,000
H4 ud I 9,00,000 — | 2ouGYl
AL, A HA 6,00,000| 13,50,000 | YysA& w3 45,000| 37,500
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MEIEEETEREIN 7,50,000 | 6,00,000 | @R(l&dl 90,000 52,500
539U A2LAUS 60,000 45,000 | RA-AR g2l 45,000( 175,000
AglelR) 90,000 | 2,25,000
edlédl 75,000 30,000
R~ §3 1,50,000 | 1,35,000
yRd Rz 15,000 30,000

53,25,000 | 57,45,000 53,25,000 | 57,45,000

aqiu-l wlsdl -

(1) dl. 30-6-2015+11L A% S(5a2l A U 20% Avl R~ M8 84
$q.

(2)  Su-llal dl. 30-6-2015+1L A% A5 AR €les 5% HIBusl
AR urd s4l. Sul @il Boralsuil yel ysarll sl 19 8.

(sam 1. 80 Hwol)

(3)  AlR-AAL uR 3. 2,25,00040 sl A s30 sdl. ad
gHUA 3. 75,000 AU BHd-l wiwe 3. 15,000 el qiel

EN N
(4) 30% ROAR 3. 110+ *I1A ud sl sdl.
(5) 2L Aldrl $ARU 3. 42,000 YsAl.

(6) Il s 253 QAL SAML dd 8dl ¥ 5L Y4 ™A

uild Ay FaAlMl VAl 8dl.

AYql
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1 2yl Ricl dl. 31 3 2016 244 20171 A%l wis-qaddl 20

QA Ul ad o ddls Ysls ddlR S ¢

galoiglvil 2015-16 | 2016-17 | (Mesdl 2015-16 | 2016-17
15,000 S[5a2] 212 syl Masdl | 2,10,000 | 2,30,000
£ls 3. 8 Ay 1,20,000 Aslel 40,000 | 52,000
18,000 S[542] 212 el 1,10,000 | 1,36,000
€ls 3. 10 ayd 1,80,000 | 2AlelRl 90,000 | 88,000
12% Ug- AH 4 1,00,000 | 70,000 | A$3-6{s 14,000 | 33,000
US, A URd wiA s w2l 2,000 1,000
SIEDE] 5,000 3,500
ALY BeAlHd 80,000 | 40,000
"S- 51 vlld 26,600 | 45,000
15%+1l RAAR 20,000 | 60,000
RHEAR 80,000 | 95,000
yRd Rz 14,400 | 22,500
53430 221l 20,000 | 24,000

4,66,000 |5,40,000 4,66,000 | 5,40,000

aqli-l wledl :

(1) ug adul sudlal viad: aya Ssad 4R €leid Ayel aya

S HIZ AEls 2 AVl ol Ysdd . L &g Ml UMY

AlHAAL GUURL 39 .
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2)

3

(4)

(®)

(6)

(M)

¥ eHul S[54 AR S&AA 85+l AR A3 nal Sl5adl

A 5:1+L Wl eldMs Bud 2uta 8.

dl. 31-3-2017+ A% Aol WS AL IR 5%+l Y

YIBusl Yd saAML 29 8.

ai el 3. 12,0004 s Aot (@ v 34l wid
Add AR 3. 3,000) 3. 9,500 Hi AUAUHI A4 B,
Ay eHuld sl Hasdl v aarl aias 3. 15,000

$30 edl.

ol Qv YRud S5adl 92 Rl Ysaai >1da 8. d Guid

Qi quauald RR-s 3. 9,000 Ysdd 8.
A Alerl $AAUAL WH 3. 24,000 Ysaa O,

UsA AR R[A3w3 e35 Q¥ 31-3¢l A% Ysadmi 21d €.

2 lAdL 2o@ui vl ML vedl 2wissl Yl 2ea sl quil. 20
o33l dRladlall ealdl. AR [R&.AL HaHAlAL Arissl ¢
Hd uHLLL UAIBL wIvR wIvR HL. Al HL. AUl Hl. Al.
Al opeR)) Buad | auua Bud v Bua QU
(o) |(3. Ba€le) | Bau|(3. B €ls) [Raas (3.) [Raas (3.) [Raas (3.)
A 1,000 — | 1,100 6.5 - —550 -
B 750 4| 650 - 250 - -
C 1,250 5 - 45 - - 750
Yal
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2 axg Yell Wil Bisier 2090l ol 1A yoe o 20

Haatdid | Bal | alels uddr
A 50 2.5
B 20
C 30 3

ALY 6L UHIBL slvie 5@ Asdldl 10% 8. ¥+l ¢lour Bud
Guadl «ell. aq Y « Geulen 36,000 (B 2y, ¥4l viviz vl

AURUL 2 U3 ~(lA Yol gl :

g | Bar | dlels widr
A 20,800 2.75
B 8,400 1.875
C 12,800 4.75

dMIR HaAMLAL {lA41 Raadl v ©
(1) HlauHid WA [Qaan

(2) UM Hla [Qaad

(3) M auu [[uad

(4) MM Mo [aad

(5)  HlEAMIA Gua [qaa+

3 s siRvldl 1Y vl Vil umeL A dAirdlas uRRal A 15

Hoo, gdl :

YR wMHIBL saLsels BB BIVR
USIR AvyYL UHIBLER AvyL saLsels €l
Y™ 30 0.9 40 0.8
l 15 0.7 10 0.75
o5l 10 0.5 5 0.4
$4 55 2.1 55 1.95
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L3S 40 SALS UHIRL AHA Yoyt WHLRL Geuled A5 21814l 2,000
U 8. UHIBL AHY 60U 10% AHIA 8. dAlRd[As 218aRs Geulet
1,600 suq qda. ¥33 wediall ARkd owiddl a¥ wgIl »idi-

[Qag-dl M.
YqL

3 () Al Wl 20 Adq WA RagAHA 2R 53 2N 10

Auendl :

(1) HyRl vl [

(2) "%l e [duan

(3) HoR sldaMdl [Auaq

(4) MBEsy a1y [Qaad

SIHEIRAL AvUL ..., 200
siMelRels uMIRlL BMs Gelen ... 50 54l
SISl BARL ... 44
GURAL A A YsAAE idUIES UMY ......... 1/2 [au
uHlel 4ol BHS Ade B . 3. 12
BRUR BMHS Adrl B Lo 3. 14

() s SR drg X Geulest 2d B, d-dl 1ol 24314) 5

Hisdl A wxel o :
UHIRL (2Ll @ 40 s1MelRL salsEls 3. 75 @ul 100 sdls
R HURL ¢ 42 S1MelRl salsgls 3. 80 AW 100 sdls

Hogdl 2091 uidR, e sldaHdl [Auasdl 2.
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4 3dq dasaFs Al Al ulkdl wa o - 15

ad) | daery. [ ulReuws.
201511,00,000 | 15,000
2016 | 37,500 -3,750

deidil s :
(1) sl w2l 2RildR
2) [Rer v
(3) 201671 $a AlMd WA
(4) AHqge Rigyl Qe
(5) 2015+l ad-l Al due
6) A Al 2uUl 20% €1d dl WIAUR AALRL
(7) 201741 20% vile 20l sl €A dl o33l QL
(8) o A2 BigM Adl AARIHL 10% &Ll $aAHL 2 dl Su-lq
Urlly 5L
vyal
4 (a1) Geued 80,000 RsH ReR widR 3. 4,00,000 15

QAL (BHd AsHEls 3. 20 AlAd W3dR sHElS 3. 10
AHg2 g2 el Ml :

AlHid widr 3. 2,400 sl %2l-l dRNdR (P.V.R) 20%
el [Bud 2k,

sl 3. 20,000 sl el dRIdR (P.V.R) 40%

waHdl duel .
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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.
(2) Show necessary calculations as a part of answer.
1  From the following Balance Sheets of Yesha Ltd. as on 20
31-3-2015, 31-3-2016 and other information given below.
Prepare a statement of working capital and a statement of
sources and application of funds.
Liabilities 31-03-2016(31-03-2015 | Assets 31-3-2016 | 31-3-2015
Equity share of Goodwill 15,000 30,000
Rs. 10 each 24,00,000[ 18,00,000 | Plant &
10% Redeem. Machinery 15,00,000] 12,00,000
Pref. share each Land &
of Rs.10 out of Building 13,50,000| 16,50,000
Rs. 8 paid up — 12,00,000 | Furniture 3,30,000| 2,85,000
Share premium - 30,000 | Investments 80,000 10,000
Capital Reserve 75,000 —| Stock 4,775,000 4,50,000
8% debentures 2,10,000 3,00,000 | Debtors 10,65,000| 15,00,000
Capital Redeem. Cash & Bank 3,30,000| 4,55,000
Reserve 9,00,000 —| Prepaid
General Reserve 6,00,000[ 13,50,000| Expenses 45,000 37,500
P& LA/ 7,50,000 6,00,000 | Bills Receivables 90,000 52,500
RS-16080001050601 ] 8 [ Contd....



Provision for Dibenture
Taxation 60,000 45,000 | discount 45,000 75,000
Creditors 90,000 2,25,000
Bills Payable 75,000 30,000
Provident Fund 1,50,000 1,35,000
Proposed Dividend 15,000 30,000
53,25,000 | 57,45,000 53,25,000| 57,45,000

Additional Information :

(1)

2)

3

4
®)

(6)

The company declared a dividend of 20% to equity

shareholders on 30-6-2015.

The company issued notice to preference shareholder
for redemption at a premium of 5% on 30-6-2015. The
amount paid as per company act and see no. 80.
Rs. 2,25,000 were provided for depreciation on plant
and machinery during the year. One plant of Rs. 75,000
was sold at a loss of Rs. 15,000.

30% debentures were redeemed at Rs. 110.

Taxes of Rs. 42,000 have been paid during the year.
A piece of land has been sold out and profit transferred

to capital reserve.

OR
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1 From the following Balance Sheets for the year 315t March 20

2016 and 2017 of Aayushi Itd., prepare Fund Flow Statement.

Liabilities 2015-16 | 2016-17 | Assets 2015-16 | 2016-17
15,000 eq. shares Fixed assets 2,10,000 | 2,30,000
per share Rs. 8 Investments 40,000 52,000
paid up 1,20,000 Stock 1,10,000 | 1,36,000
18,000 eq. shares Debtors 90,000 88,000
per share Rs. 10 Cash-bank 14,000 33,000
Paid up 1,80,000 | Priliminary
12% preference expenses 2,000 1,000
share capital 1,00,000 70,000
Redeemable pref.
share premium 5,000 3,500
General Reserve 80,000 40,000
P& LA/ 26,600 45,000
15% debentures 20,000 60,000
Creditors 80,000 95,000
Proposed eq. dividend 14,400 22,500
Provision for taxation 20,000 24,000

4,66,000 | 5,40,000 4,66,000 | 5,40,000

Additional Information :

(1) Company has declared Rs. 2 per share as bonus to

make the equity shares fully paid. For this purpose

General Reserve has been used.

RS-16080001050601 ]
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2)

®3)

(4)

(®)

(6)
()

Right shares at their face value is to be issued to
the existing shareholders in the ratio of 5:1 during

the year.

Redeemable Preference shares is to be redeemed

@ 5% premium on 31-3-2017.

A machinery of Rs. 12,000 (on which depreciation
written off till the date Rs. 3,000) is sold by
Rs. 9,500. Provision for the depreciation is made of

Rs. 15,000 during the year.

Proposed equity dividend of the last year was paid.
Interim dividend of Rs. 9,000 was paid during
the year.

Tax of the last year of Rs. 24,000 was paid.

Preference share dividend is to be paid on 31-3

every year.

2 Rewrite the following table by filling the blanks with 20
missing figures. Shaw necessary calculations.
Following are the figures of material of Essar Co. Ltd. :
Material | Standard | Standard Actual Actual | MCV | MPV | MUV
Quantity | Price (per | Quantity|Price (per Rs. Rs. Rs.
(Kg) | Kg Rs.) (Kg)| Kg Rs.)
A 1,000 — 1,100 6.5 — | =550 —
B 750 4 650 — | —250 — —
C 1,250 5 — 4.5 — —| =750
OR
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2 The standard mix of product Y i1s as follows :

Material | Kgs | Price per Kg (Rs.)
A 50 2.5
B 20 2
C 30 3

20

The standard loss in production is 10% of input. There is

no scrap value. Actual output(production) of Product Y was

36,000 kg. Actual consumption of material and cost were

as follows :
Material | Kgs | Price per Kg (Rs.)
A 20,800 2.75
B 8,400 1.875
C 12,800 4.75

You are requested to calculate the following variances :

(1) Material cost variance

(2) Material price variance

(3) Material usage variance

(4) Material mix variance

(5) Material yield variance

RS-16080001050601 ]
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3 Following are the information of a company related 15

standard and actual labour expenses :

Labour Standard Actual

Type No. of | Rate per No. of | Rate per
labourer hour labourer hour

Male 30 0.9 40 0.8

Femlae 15 0.7 10 0.75

Children 10 0.5 5 0.4

Total 55 2.1 55 1.95

As per standard time of 40 hours per week, standard
production of a week was 2,000 units. Generally normal
wastage of the standard time is 10%. Actually production

of the week-was 1,600 units.

Find out the labour variances with proper calculations.
OR

3 (A) From the following informations calculate : 10
(1) Labour cost variance
(2) Labour rate variance
(3) Labour efficiency variance

(4) Idle Time variance

No. of Labourer ..........cccceeiiiiiiiiiiiiiieeeeeeeee, 200
Standard daily production per labour............ 50 units
Working days ...ccooovveeeeiiiie e 44

Idle time included and paid in the above... 1/2 days
Standard daily laour rate ..........ccccoeeeevvvieeeeennnnn. Rs. 12

Actually daily labour rate...........ccccooeeeiiviinnneenns Rs. 14
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(B) Product X is manufactured in a factory. Following are 5

the information related to labour :
Standard wages : 40 labourer, 100 hours Rs. 75 per hour.
Actual wages : 42 labourer, 100 hours Rs. 80 per hour.

Calculate labour cost, labour efficiency variances.

4  Following particulars are from records of Ketan

Electronics Ltd :

Year | Sale (Rs.) [ Result (Rs.)
2015 | 1,00,000 15,000

2016 | 37,500 -3,750
Calculate :
(1) P.V.Ratio
(2) Fixed Expenses
(3) Total variable expenses of 2016
(4) Break Even Point.
(5) Margin of safety for the year 2015.
(6) If margin of safety is 20% then actual sales.
(7) Sales required in 2017 to reduce the loss by 20%.
(8) If break even sale is reduced by 10%, the loss occurs

at that level.

OR

15
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4 (A) Production 80,000 units Fixed cost Rs. 4,00,000 15
Sales price per unit Rs. 20 Variable cost per unit Rs. 10

Calculate the sales at break even point.

(B) Marginal costing Rs. 2,400 P.V.Ratio 20%

Find out sales price.

(C) Profit Rs. 20,000 P.V.Rato 40%

Find Out Margin of Safety.
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